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REI : Player 2
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R= Reward

Player 1- = Temptation
i TT s PFP 't c= Cooperate

D= defect

we have T > R > P > S .

If Player 1 chooses row 1 their

Player 2 chooses T since T > R so

we mark T in (1) 2)

If player 1 chooses row 2 their

Player 2 chooses P since P > S so

we mark P in (2,2 )

If player 2 chooses column 1 their

player / chooses T since T > R .

So we mark T in (2,1 )

If player 2 chooses column 2 then

player 1 chooses P since P > S
.

so we mark P in C2
,
2) .

Hence
,
Nash equilibria is (P ,

P )
which is (Defect , Defect) .



Lii) 1- = Rt 0.01
,
R= 1000 P

,
S =P- 0.01

We have T > R > p > S
.

IOOOP -10.01 > IOOOP > P > P - O .
01

Since the Nash Equilibrium
is (Defect , Defect) = ( P ,

P )

so
,
it will be 1000 times worse

than choosing CR
,
E) = (Reward

,
Reward ) .



Problematic
☐
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T > R > s > P

We use the same process as before
and we notice that we have two

Nash Equilibrium . They are
G.⇒ = ( C

, D) = ( Pay , Refuse)
(T , 5) = (D ,

c) = (Refuse
,
Pay) .

(ii. Ciii) Player 2
C P D (I - P ) payoff

C of R
,
R µ

S
,
T Rpt sci- P )

Player
I

☐ G- f) T , S P
,
P Tp + Pltp)

Payoff Rot -15/1-9-3 Tq + Pll-9)

Suppose player 1 has probability p
and player 2 has probability g-
Of winning .



So
,

u , (c) = u , (D)

Rp -1511- p)= Tp + PG - p)

Rp + S - sp = Tp + P - Pp
Rp - Sp - Tp + Pp =P - S

PCR- S - Tt P ) = P - S

p=P-S_
R - S - T -1 P

and ua(c) = v2 (D)
Rq + Sci - g) = Tq + PG - 9-)

Rq + S - sq = Tq + P - Pot
Rq - Sg -Tq + Pq = P - S

9- ( R- S - Tt P ) = P - S
9- =P[¥+P

So there is a mixed Nash Equilibrium
'

.

( r.PE?-+pirEs?,--+p ) .
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So
,
T > R > s > P where



-1--5
,
R=4

,
5=3

,
P= 1

.
This means

our mixed nash equilibrium is

(Ñ+p'¥÷-p)=(h+Tiu-¥ñ )
=(÷ ,

- ;-)
= (2-3,2-3)

which matches with MNE 22 (G) in

maple .


